1. Complete the MRP using the information given below, in an Excel spreadsheet.  Assume Lot-For-Lot lot-sizing.   
Item
A



lead time

1



Week
0
1
2
3
4
5
6
7
8

Gross requirements



20

50

60
70

Scheduled Releases






50



Inventory / Available
20




















Item
B



lead time

2



Week
0
1
2
3
4
5
6
7
8

Scheduled Releases










Inventory / Available
30




















Item
C



lead time

1



Week
0
1
2
3
4
5
6
7
8

Scheduled Releases


50

50

50



Inventory / Available
60




















Item
D



lead time

0



Week
0
1
2
3
4
5
6
7
8

Scheduled Releases




500





Inventory / Available
550




















Item
E



lead time

1



Week
0
1
2
3
4
5
6
7
8

Scheduled Releases



100


100



Inventory / Available
100









2. Complete the following Lot-Sizing worksheet.  Ordering costs are $100.00 per order and the cost of holding one unit in the inventory for the period is  $0.10, determine which method is preferred in this case. (Question may be solved either by hand or using an Excel spreadsheet).

Lot sizing method :  Lot-For Lot 







Period
1
2
3
4
5
6

Net Requirements
100
300
400
500
100
200

Planned Order Receipts







Available Balance







Total Cost















Lot sizing method :  Fixed Quantity 

1,000





Period
1
2
3
4
5
6

Net Requirements
100
300
400
500
100
200

Planned Order Receipts







Available Balance







Total Cost







Which lot-sizing method is recommended?

3. A Retailer sells a product with an annual demand of 1,460.  The average order cost with its supplier is $35.00 per order and the annual carrying cost is 25% of the purchasing cost of $50.00 per unit.  The average lead-time is 10 days.  (Assume 365 days per year)  Show your calculations.  

a) What is the Economic Order Quantity QOPT?  

b) What is the time between orders?  

c) What is the Reorder Point?

d) What are the Annual Ordering Costs?

e) What are the Annual Holding Costs?

f) If the daily demand has a normal distribution with standard deviation (t of 1.9 and the Retailer desires a 95% probability of no stock-outs, what is the Reorder Point with a Safety Stock?

4. MRP.  


· Product A is made using 2 B, 1 C, 2 D and 3 E.

· Part B is made with 2 E and 3 F.

· Part C is made with 3 D and 1 F.

a) Draw the Product Structure Diagram.

b) Complete the MRP started in the Spreadsheet "finalreviewanswers.xls", using Fixed Period = 3 lot-sizing.

5. Inventory
· A store has an average demand for a product of 300 units per week.  

· The cost to Order is $40.00.

· The monthly carrying charge is 2%.

· The wholesale price of the item is $1.85.

· The lead-time is 1 week.

· The daily demand standard deviation is 15.

a) What is the EOQ?

b) What is the time between orders?

c) What is the Reorder Point?

d) What are the annual Ordering Costs?

e) What are the annual Holding Costs?

f) What is the Reorder Point to maintain a 95% probability of no stock-outs?

g) What is the Reorder Point to Maintain a 99% probability of no stock-outs?

A





B





C (3)





D (6)





E (4)





D 





E (2)
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